
ROCK	HARD	4X4	JEEP	WRANGLER	JL	2/4-DOOR	
2018	-	CURRENT	TUBULAR	ROCKER	GUARD	

PART	#:	RH-901XX	
Installation	Manual	

https://www.carid.com/rock-hard-4x4/


PACKING	LIST:	

4-DOOR	MODEL
1	-	 DRIVER	SIDE	TUBULAR	

ROCKER	GUARD	
1	-	 PASSENGER	SIDE	TUBULAR	

ROCKER	GUARD	
12	-	 5/16”	NYLOCK	NUTS	
4	-	 LONG	HOLE	PLATES	
4	-	 SHORT	HOLE	PLATES	
6	-	 8MM	x	1.25	x	30	BOLTS	

(IF	FACTORY	GUARDS	NOT	
INSTALLED	–	SPORT	MODEL)	

6	-	 5/16”	WASHERS	
6	-	 12MM	x	1.75	x	100	BOLTS	
4	-	 2-3/4”	BLACK	MACHINED

WASHERS
2	-	 1-5/8”	BLACK	MACHINED

WASHERS

2-DOOR	MODEL
1	-	 DRIVER	SIDE	TUBULAR	

ROCKER	GUARD	
1	-	 PASSENGER	SIDE	TUBULAR	

ROCKER	GUARD	
8	-	 5/16”	NYLOCK	NUTS	
2	-	 LONG	HOLE	PLATES	
4	-	 SHORT	HOLE	PLATES	
4	-	 8MM	x	1.25	x	30	BOLTS	

(IF	FACTORY	GUARDS	NOT	
INSTALLED	–	SPORT	MODEL)	

4	-	 5/16”	WASHERS	
4	-	 12MM	x	1.75	x	100	BOLTS	
4	-	 2-3/4”	BLACK	MACHINED

WASHERS
2	-	 1-5/8”	BLACK	MACHINED

WASHERS

REQUIRED	TOOLS:	

13MM	SOCKET	
18MM	SOCKET	
10MM	SOCKET	
8MM	SOCKET	

DRILL	BIT	(OPTIONAL	IF	PINCH	
SEAM	ISN’T	ALIGNED	FROM	
FACTORY)	



1. Remove	factory	rocker	guards	or	steps	if	equipped.	Remove
factory	body	mount	bolts.

2. Install	Rock	Hard	4x4	tubular	rocker	guards	into	factory
pinch	weld	holes.

NOTE:	It’s	rare,	but	the	stamping	process	when	your	tub
is	mated	to	your	floor	pan	results	in	misaligned	pinch
seam	bolt	holes.	A	quick	enlarging	with	a	drill	bit	will
help	our	bolts	slip	into	these	holes	easier.

3. Install	LONG	washer	plates	over	rear	and	center	sets	of
studs,	install	2	small	plates	on	front	studs.	Do	not	tighten.

4. Install	supplied	body	mount	bolts	with	large	black	machined
washers,	do	not	tighten.

5. Install	supplied	8MM	bolts	and	washers	black	machined
washers	through	welded	floor	pan	braces,	do	not	tighten.

6. Install	nylock	nuts	over	pinch	seam	studs,	do	not	fully
tighten.

7. Make	any	final	adjustments	to	sliders,	tighten	all	hardware.

Choose reliable running boards offered on our website.

https://www.carid.com/running-boards.html



